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We derive from this; — 717 297 DYab oI v VAW
one who seizes on behalf of a creditor, acquires it for him

OVERVIEW

X177 27 explained that we can derive from the ruling of the 2°n217 in our mwn
(that once the 117X transferred the 71w VW to a third party to give it to the
72¥, he can lo longer retract and take back the qvw), that if an outside party
seizes the assets of a debtor on behalf of a creditor, the creditor acquires
these assets, and the debtor has no recourse. It is apparent that the manner in
which X117 27 derived this ruling, is because he viewed the master as the
debtor, the third person as the seizer, and the 72y as the creditor. Just as here
by the 72y, when the third party receives the “ww from the master (the
debtor) for the benefit of the slave (the creditor), the rule is that the master
(the debtor) has no recourse, similarly when one is 1"va% 090, the mo»
acquires the assets and the M> has no recourse. Mo0IN argues that the
analogy is far from perfect, and subsequently resolves the difficulties.

nooIn asks:
— 1P 21N HYAY VAN AN 1DAN PNYY 139390 NN

The >'"1 finds this comparison astounding! Even if we were to assume that

an"ya® eownis mp -
— N3 HY2 1PN NNPY NYYY NINY DIVN 1399

That is because the 0910 is considered an agent on behalf of the m%» and

therefore the 091N is 71332 even against the will of the 1% -
— 18y NN DAN 1YIND 29N NNV 29Y

Since the MY owes the M%n, and the 0910 is considered to be a »Ww of the

m9n therefore it is considered as if the 7191 himself seized the assets of the 779 -
=932 MINDN PINN NN 29YY 5152 19N 1I8Y TayN 199N INI VAN

However here even the 72y himself (whom we are comparing to the 'm%n)
cannot prevent the master (whom we are comparing to the mY) from

retracting, for instance -
— 1t NYapa 9NNV XYY 19 NYTY NINY VI 1M N°D BN

' See ‘Overview’.
* The 17X gave the v3 to the 72y and stipulated that it should not effective for another thirty days (for
instance). The 117X may retract the MY any time before the thirty days.
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If the master would give the 72¥ a 91972 v with the understanding that

he should not be freed with the acceptance of this 11w qvw, then the master

would be able to retract this MY W, the reason is -
—999NnYY 29N 1IN 9

Because the master is not obligated to free the 72V, as opposed to a m? who is

obligated to repay the Mm% -
— 99N NINA NN YAPNH 295 ANY 19 ON

If this is indeed so, why should the receiver of the M W 0w prevent the

master from retracting -
— %5137 5919 IXY 191 IMINNT PIYT XPYD NNYAT 11

Since as of now we are assuming that one who says ‘give’ is not as if he
said "1,

mooIN question is that our case is not comparable to a n1"va% oon. By a n'"vah 09N, the
Mm% can certainly seize the assets of the m?, and therefore the 0910 who is considered to
be the 5w of the mYn (if we assume that 73 1"v2% 09I077), can also seize. However, here
the 72y (who is compared to the m%n) cannot seize the 2vw from the master (even if the
master gave it to him), so how can the receiver seize it on behalf of the 7av.

mMooIn has an additional question:
— 23 Hyab POIN MY BUNT Tayy PIND 29N NN NI

And furthermore, what does the master owe the 7a» that we refer to the
receiver that he is seizing for a creditor; what debt does the master owe the slave-

mMooIN anticipates a possible solution:
— PV NI DY Ta¥T DIVN 2PUN NI

And if you will say that the master is considered in debt to the 72¥ because

the 72V pleased the master (since the master is now freeing him) -
— NIPINN NDD 5Y apY 0N 19539 UV 15

As the n'"'9 explains later regarding a different matter —

mooIN rejects this solution:

? The 1178 merely told the receiver to deliver the MW v to the 7av; indicating that the M nw take place
when the 72y receives it, therefore if the 72¥ cannot prevent the master from retracting (if the 7w is not yet
effective [see previous footnote # 2]), then certainly the receiver cannot prevent the 7% from retracting.

* The first question of Moo is how can we compare the X050 for a "2 to the Xo*on for an 72y, since the
72y cannot even by 0910 for himself. This question merely asks how we can refer to the 72¥v as a 1"'va since
the master owes him nothing (see n"11).

> See following %5 11"7 ' (on the top of 8,2 [footnote # 21]) .
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— S@9nNRY AN 7Y 2SWN 2951 19 BN
If this is indeed so (that the master received a benefit from the slave and in
turn he is freeing him), then how is this case considered ‘damaging
others’; who is being damaged here?!

mooIn offers his explanation:
— YWY N N 7a¥T DIVN 2IN NEP 2PYNT PNYS 199290 NN

And it is the view of the v''= that it is considered that there is somewhat of

a debt from the master to the 72V, since the 72 pleased the master (to the

extent that he is willing to free him) -
— 0195 PINN 1Y 299N 1N Y9NV OIINND AN 1YY 1PUN DIPN Y

But nonetheless it is also considered 2°7n8% 21 (meaning the master), since

the master does not really owe the 72v anything. This resolves the second

question of MdOIN.
— 1P 2N YYaY DOIN N NNPHYWA IWIVD Y5

And this is the explanation; the 7iwn will be properly understood if we

maintain that a i7''»a®» 20 is 732, for then -
—795tnY Y995 XYW 12389 1t AYaPA NP N D) BN NN PN

It will not be surprising if here (by the 72v) as well, the 72v will acquire
the Mnw "vw through this reception, at least to the extent that the master

cannot retract -
— MY N DY TayT DIVNT

Because since the 72V pleased him, the master -
— N9 129vY Yo 723 /N Hya NYNIY NN NNA

Is willing that the 72y should be a creditor to the extent that the receiver
(as a ©91n) can prevent him for retracting the M 7w v —

mooIn responds to an anticipated difficulty:
— IR NIV 1M HaPY NN INYT DAPNN 7Y 1NN XYY 29 HY 9N)

6 Ao 72 pnx M responded to X117 27 that if our m1wn teaches that 71p 1"'va% 09107, then it would seemingly
also teach that n"va% o517 is 7IP even in a case where it is 2°nX? 2r; if there are other creditors and by
seizing it for one creditor, the others will lose out on it, for here too the 0910 for the 72y is 217 the NIX for he
is losing an 72y. However since m»oin said (according to the n"2 w7°9) that the N 7R owes the 72¥ since he
pleased him and therefore he is freeing him, so the 17X is not really losing anything; he is merely freeing
the 72y in exchange for the favor he received from him. Why is this referred to as o*nx? an?!

7 There is no thought (at this point) that the 72y should become freed when the third party receives the 2w
A (for now we maintain that jn is not like °21), however the commitment of the master to free the 72v in
exchange for the 77wo1 n™1 7°% 72y, should have the effect that the receiving of the M nw “vw by the third
party should prevent the master from retracting (for this is the master’s will).
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And even though the receiver had no such intentions,’ nevertheless we
assume that the intention of the receiver is to accept the 1w W as the

master wishes.” Therefore the 71wn is understood if we maintain 737 1"y o:n7 -
— 15 NY 2)N Y¥aY DONN ON YaN

However, if n''¥a% o207 is not ;73p, then -

%2 MINY PINA 999W NPWOI N N9V TaYT XIN 2N Y¥2 IRY N1 19V Y
here where the 72V is not the creditor of the master, it is only that he
pleased the master, then certainly the master can retract the "nw qow.

SUMMARY
The N7X, in return for the 7°wo1 17°°1 grants the 72¥ the status of a r7"'v2.

THINKING IT OVER

MooIN in his question argues that there is more reason for a n"¥2% 09N to be
112, than for the 17X not to be able to retract. M0oIN question 1s well
understood if we were attempting to derive the 1°7 of our 7iwn from the 7 of
n"va% o0, for then we can argue that we cannot derive 72y from n"v2% ooin.
However X117 21 said the reverse; since we know from our 71w that even by
72v he cannot retract, then certainly n'"va? 09107 is 1P, for as MdOIN points
out that by 0910 there is more reason to be 717 than by 72¥! What is n501n
question?!"’

¥ The receiver is not aware that the 117X is granting the 72y the rights of a n"ya. He is not aware that he can
be in a position to be 091N on behalf of the 72¥. Seemingly the 117X should be permitted to retract.

? The 77X is 7wn the 72v because of the 7°wd1 1m°°1 which the 72y caused the 17X, The 117X in his gratitude
to the 72¥ is not only prepared to be 77nwn the 72v, but also to grant the 72y the rights of a 1"¥2 in relation
to the 17X, If we maintain that a 1"va% 090 is 7P, therefore here too the third party receiver is 717 the
7w for the 72v to the extent that the 117X cannot retract. This case is not comparable to the case m»oin
cited in his question, that if the 17X gave a MW VW to the 72y and stipulated that it is not effective yet,
then the 717X can retract; for there the 177X clearly stipulated that the M177w should not be effective currently.
However, here where no stipulation was made, it is assumed that the 117X is implicitly granting the 72y the
rights of a n"va. On the other hand, however, the 17X (despite the w1 i1°°1 % 7°2Y) is not obligated to free
the 72v; he still retains full right over the 72y, therefore if the master cannot retract, it is considered a 21
o*nXY, (meaning the master), proving that a 1"'va% 090 is 73p even if it is 2nX? 2. [It is almost as if we
divide the 17X into two people; the part of the 178 which received the 7°ws1 r>1 is like the m? and he
implicitly grants the 72y the rights of a i1"¥2; however the part of the 177% which owns the 72y is like another
7191 who is losing out to the 0910 who is seizing the assets for another 7177 (in this case the 72v).]

' Granting the 72y the status of a 1"v2, cannot make the 72y ‘stronger’ than a regular n"v2, for whom Xo*on
will not help by a third party, and the 090 will be required to return the assets to the m>. Similarly here the
third party receiver will be required to return the M7 VW to the N7, should the X so desire.

' See "n # 145-46.
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